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I.  Separation of 3"n3 from his wife
a. 37p7 perhaps he’ll find her to be a i pav after nx»a
i. Challenge: only reasonable according to »™ (3:2 N above): such a case creates NT1 Y12 NRMY
ii. Defense: even m'nan agree if 07 seen immediately after (1nR) that he is nyaw nrmv kY
b.  conclusions re: time of N0 for nT1 Y12
i. 71’7 daytime — otherwise, he would be Y210 at night of 10"
1. And:require wnw 190 of the end of the 10t before doing nT1ay
ii. 7w "1 possible nighttime (like ") — we separate him just before end of »wn 2
1. Proof: “all m»»1v »a»n ablute during day except n1o» nm”
2. Defense: perhaps "n11” includes n1 and nm Y11 (extension of NT)
3. Proof: ®:n D221 (above) — NT1 Y100 RNV
a. Meaning: for n20 — (during day) 2>nT Y»1 ~=1n
i. Alternate: for nRmv (7 days)
ii. Rejection: that is explicit in 071N — no need for such a mwn
iii. Defense: needed for nkmv; taught due to Xa’0 (711 Y11 is more severe...)
iv.  Proof: mwn of ®»n "1 — nYav during the day. QED
II. Lack of concern for nn nkmv (we don’t separate the 312 from all other people)
C. RI7. NN NRMY is “mmn”
d. ~»37 possibly just nnT; nnon is less likely than nT1 nrnv
e. Tangential discussion: re NXA IRMO — NNT V. NIMN
i. pom 77z namn; if all members of today’s ar n’a are nn *RNY, they perform nTay nonetheless
1. Version2: even if some are mmnv, all perform, since nn nrMY > NIMN
ii. w7 nnnT; in that case, we look for other o110V 72N>
1. Proofl: if he was offering the anyn nnin and it became &nv, he informs them and they bring
another; (if there is no more barley, he is silent)
a. Defense (yns 79): re: eating, all agree that it must be 1nv
2. Proof2: if he was offering the grain offering accompanying bulls, rams or lambs and it
became ®nv, he informs them and they bring another
a. Isn’t this: the offerings of ma1o (that have a set time, and must be brought on time, even
nRMVI) — but are not eaten NNV
b.  Rejection: 3 arguments
i. Bulls: of expiation for idolatry: no set time, we find another 121p
ii. Ram: of 3”n»a »"n3 — belongs to an individual, doesn’t trump nxrnv
iii. Lamb: that comes with Iny; the nmn refers to the 1ny, as above
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